
1

AZF8611SD-C5DA

EXTRA PARTS AZF8611SD-C5DA



Ref.No	 Parts No.	   Description　 	    品     名　 	 Amt. Req

AZF8611SD EXCLUSIVE PARTS	 サブモデル専用部品	 1

	 1	 2127585		  Presser Foot, C. Set(C5)	 押エ ( 組 )	 1

	 2	 0027224		  Presser Foot(Upper)	 押エ ( 上 )	 1

	 3	 004351		  Screw(9/64-40×7)	 止ネジ	 1

	 4	 0027245		  Presser Foot Connector	 押エ連結桿	 1

	 5	 0027246		  Presser Foot Connector(Right)	 押エ連結桿 ( 右 )	 1

	 6	 2127586		  Presser Foot(Front)	 押エ ( 前 )	 1

	 7	 2127587		  Presser Foot(Rear)	 押エ ( 後 )	 1

	 8	 004149		  Screw(1/8-44×2)	 止ネジ	 2

	 9	 004404		  Screw(3/32-56×5.1)	 止ネジ	 2

	 10	 004109		  Screw(1/8-44×2.5)	 止ネジ	 1

	 11

	 12	 2128505		  Stitch Plate(C5)	 針板	 1

	 13	 2106013	 [2106006]	 Differential Feed Dog	 前送リ	 1

	 14	 2106007		  Main Feed Dog	 後送リ	 1

	 15	 2129070	 [2129091]	 Top Feed Dog(Coarse)	 上送リ ( 荒歯 )	 1

	 16					   

	 17	 0022981		  Tape Guide Stay Shaft	 テープガイド支エ取付軸	 1

	 18	 110009		  Screw(M4-0.7×8)	 止ネジ	 1

	 19	 0022963		  Tape Guide Stay	 テープガイド支エ	 1

	 20	 0022982		  Tape Guide	 テープガイド	 1

	 21	 003638		  Screw(11/64-40×4)	 止ネジ	 2

	 22	 0026239		  Folder Support, C. Set	 定規取付台 ( 組 )	 1

	 23	 0026242		  Vertical Adjusting Plate	 上下調節板	 1

	 24	 001331		  Screw(9/64-40×3.8)	 止ネジ	 6

	 25	 0026241		  Lateral Adjusting Plate	 左右調節板	 1

	 26	 0026240		  Swing-out Lever	 スイングアウトレバー	 1

	 27	 000172		  Conical Spring Washer	 皿バネワッシャ	 1

	 28	 004150		  Screw(11/64-40×5.2)	 止ネジ	 1

	 29	 000334		  Nut	 ナット	 1

	 30	 0022447		  Swing-out Lever Holder	 スイングアウトレバー取付台	 1

	 31	 0022448		  Swing-out Lever Stop	 スイングアウトレバーストッパ	 1

	 32	 005036		  Screw(1/8-44×5.6)	 止ネジ	 1

	 33	 0022435		  Folder Positioning Pin	 定規固定ピン	 2

	 34	 0022436		  Pin Holder Spring	 ピン押エバネ	 2

	 35	 001196		  Screw(1/8-44×6)	 止ネジ	 1

	 36	 001225		  Screw(1/8-44×2.8)	 止ネジ	 1

	 37	 110047		  Screw(M4-0.7×10)	 止ネジ	 2

	 38	 2109052		  Auxiliary Feed Dog	 小送リ	 1

	 39	 0026243		  Folder Supporting Plate	 定規取付板	 1



2

EXTRA PARTS AZF8611SD-C5DA



Ref.No	 Parts No.	   Description　 	    品     名　 	 Amt. Req

EXTRA PARTS for AZF8611SD	 特注部品	 2

	 1	 0027359		  Fastener Guide Mechanism, C. Set	 定規装置 ( 組 )	 1

	 2	 0027346		  Fastener Guide(Upper)	 定規 ( 上 )	 1

	 3	 0027347		  Fastener Guide(Lower)	 定規 ( 下 )	 1

	 4	 001202		  Screw(9/64-40×6.6)	 止ネジ	 2

	 5	 0027348		  Fastener Guide Support	 定規取付板	 1

	 6	 001330		  Screw(9/64-40×3.8)	 止ネジ	 2

	 7	 0027349		  Fastener Guide Holder	 定規取付板支エ	 1

	 8	 004440		  Screw(11/64-40×8.3)	 止ネジ	 2

	 9	 0027350		  Fastener Guide Shaft	 定規軸	 1

	 10	 0075081		  Cotter Pin	 割リピン	 1

	 11	 0027355		  Shaft Holder(Large)	 定規軸受ケ ( 大 )	 1

	 12	 0027352		  Fastener Guide Return Spring	 定規戻シバネ	 1

	 13	 0032912		  Collar	 カラー	 1

	 14	 007616		  Screw(1/8-44×4.2)	 止ネジ	 1

	 15	 0027351		  Shaft Guide Bar	 定規ガイド軸	 1

	 16	 0027356		  Shaft Holder(Small)	 定規軸受ケ ( 小 )	 1

	 17	 000532		  Washer	 ワッシャ	 2

	 18	 004353		  Screw(9/64-40×7)	 止ネジ	 4

	 19	 0027353		  Positioning Spring	 定規位置決メバネ	 1

	 20	 000533		  Washer	 ワッシャ	 2

	 21	 004541		  Screw(7/32-32×7)	 止ネジ	 1

	 22	 000621		  Conical Spring Washer	 皿バネワッシャ	 3

	 23	 0027357		  Shaft Holder Block	 定規軸受ケ台	 1

	 24	 0027358		  Block Shaft	 定規装置取付軸	 1

	 25	 002308		  Screw(11/64-40×10.4)	 止ネジ	 2

	 26	 0027046		  Positioning Plate	 位置決メ板	 1

	 27	 005000		  Screw(9/64-40×5.7)	 止ネジ	 1

	 28	 0027354		  Fixing Spring	 定規軸受ケ固定バネ	 1

	 29	 000538		  Washer	 ワッシャ	 1


